NWC Mesonet 08 October 2022

— 1.5m Air Temperature = 1.5m Dewpoint Temperature =— 9m Air Temperature

70 70
° .60 \ 60
<
= 501 - — L 50)
=
D)}
2, 40 - MW_4O
QE) I -
= 30+ 30
992 992
£ 990 L 990)
=]
(D)
= 088 088
2
& 9361 086
084 —— 084
15 N
é -NW
El LW
= 10 -SW
& -S
%) R
= 51 | i
E . II B
= e O X ! " NE
0 EL KN - S AN B A0 B . N
7é 1000 1000
= 800 - 300
£ 600 - 600
=
= 4001 - 400
200 -200
= 0 0
5 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23 00

Time UTC
Copyright 1994-2022 Board of Regents of the University of Oklahoma. All Rights Reserved.



